Y T@M REDUCER

TENIEEEEE] / GEAR BOX PERFORMANCE INFORMATION
i35 Ek Ratio
3

32.6 95.2 283
4 30.1 74.6 249
1 5 32.3 95.2 283
i 30.9 85.6 219
10 25.0 75.0 210
P G ‘ R E ﬁ Eg | ? I e 32.6 95.2 283
'ar 3R . 15 32.6 95.2 283
i}
HLE i tH S S8 T2N N.m 20 30.1 74.6 249
Nominal Output Torque
25 32.3 95.2 283
5 30 32.3 95.2 283
35 32.3 95.2 283
40 32.3 95.2 283
50 32.3 95.2 283
70 30.9 85.0 219
100 25.0 75.0 210
RS HEET2NOT N - - 3100 SfEEME it 158
Emergency Stop Torque ’ N (3.0 times of Nominal Output Torque)
i ‘ i
AERN RN rpm 1. 2 3~100 3000 3000 2500
Nominal Input Speed
e St e rpm s 3~ 100 6000 6000 5000
Max.Input Speed
BEEEEPO 3 1 3~10 - - =3
Ultraprecise Blacklash arcrin 2 12 ~ 100 = — <=5
HEL P ) 1 3~10 = <6 =5
Precise Blacklash e 2 12-100 _ =9 =7
IR EP2 : 1 3~10 =12 =9 =7
Standard Blacklash IS 2 12~ 100 =15 =12 =9
A 4 Wl N.m
Torsional Rigidity /arcmin e e 2 75 s
HiFfE=mIF2rB
Max_Radial Load N 1. 2 3~100 889 1630 3380
HiffhE S1F2aB
v it Lo N 1. 2 3~100 850 1420 2930
=
& iR & °C 1, 2 3-100 -10° C~+90° C
Operating Temp
=R 20,000
Service Life A T = 3100 (10,000/3% £E 1= ¥ continiu operationg)
RE n o 1 3~10 =96%
Efficiency ° 2 12 ~100 =92%
BE K il 3~10 1.3 3.0 T2
Weight 9 2 12 ~ 100 2.0 . 50 . 115
ZIFEFE EEFME
mounting Position B 1.2 3~100 Any direction
B =
BREE dBA/1m 1. 2 3~100 60 65 65
Noise Level
BAIHEDR
Protection Class - 1.2 3~100 1p65
e & akiER RS
Lubrication 1. 2 3~100 Synthetic Lubricant

ORI E

H#E Specifications ¥ Stage | Ltk Ratio PGCR 060 PGCR 090 PGCR 120
3

0.25 0.81 2.2
4 0.18 0.65 1.8

1 5 0.16 0.62 1.61

7 0.14 0.60 1.55

10 0.14 0.60 1.53

12 0.16 0.62 1.61

15 0.16 0.62 1.61

%ﬁ;ﬁ%“ kg.cm”® 20 0.16 0.62 1.61
25 0.16 0.62 1.61

5 30 0.14 0.60 1.55

35 0.14 0.60 1.55

40 0.14 0.60 1.55

50 0.14 0.60 1.55

70 0.14 0.60 1.53

100 0.14 0.60 1.53

LF R «




</, AGELLIY

SMiZR<TEZ / OUTLINE DIMENSION SHEET $MzR<TEZ / OUTLINE DIMENSION SHEET

PGCR90-L1

HiHiR/OUTPUT N/ INPUT
EHEE/OUTPUT 198 IR/ INPUT
13 113 40
i 2 4 3
7
. , M5+ H 3
/ |- 5
| e EE -
Y =
=| \ = " M6*12
4
e T
= IJT ‘L 4L & J'_ _:_5 o]
| ] 90 -lﬁﬁrg}l ] 7
= i =
KR B
s i ol | I o 10r
M f FIF
#5050
PGCR90-L2
PGCR 60 -L2
$HEE/OUTPUT i A/ INPUT
@HiR/OUTPUT BN/ INPUT 138 0
515 T
89S 3 i =
& ) = o
//' 5 2 T 1B 3
7 3 - ] §] r§ = = 512
| T
= | AN L
\ + 9 e | |jt|: =
o T _L \¥5*10 e |
@ Ll
hd]
iR
Iﬁ‘lfﬂ‘ HitH3M{=/Output Diameter
95057
6 ME*1P WMEFHE
i .
& Hi{=/Output Diameter ' : B B
MEH 020, :
-5 CMNDIREER T R TRIEE PSR ME M.
M5+0. 8P AIHS1 AIHS2 *The input motor specific dimensions could be customised.

16

@20

*RANDEERERZ R, REEPERRINEM.
$70 4-M4x12,4-M5x12 = ¢ 14 46 $ 50 4 90 100 140 6
¢ 75 4-M4x12,4-M5x12 =d14 46 ¢ 60 5.5 90 100 140 6
PGCRI0-L1 $90 4-M5x15,4-M6x15 =¢19 46 ¢ 70 7 90 100 140 7
$ 46 4-M4x10 =68 34 ¢ 30 5 60 81 116 9 b 115 4-M8x20 = §24 61.5 95 0 100 100 140 12.5
PGCR60-L1| ¢66.7 4-M4x10 =¢8 34 $ 38.1 5 60 81 116 8 $ 145 4-M8x20 = $24 61.5 110 0 130 100 140 12.6
$ 70 4-M4x10,4-M5x12 =14 34 b 50 5 60 81 116 9 ¢ 70 4-M4x12,4-M5x12 = ¢ 14 46 ¢ 50 4 90 119 159 6
$ 46 4-M4x10 =¢8 34 ¢ 30 5 60 137.5 172.5 9 b 75 4-M4x12,4-M5x12 = ¢14 46 b 60 5.5 90 119 159 6
PGCR60-L2| &66.7 4-M4x10 =¢8 34 ¢ 38.1 5 60 137.5 172.5 8 PGGRE0-L2 $»90 4-M5x15,4-M6x15 = $19 46 70 7 90 119 159 7
$ 70 4-M4x10,4-M5x12 | = d 14 34 ¢ 50 5 60 137.5 172.5 9 $ 100 4-M6x15 =$19 46 ¢ 80 7 90 119 159 7
b 115 4-M8x20 = ¢ 24 61.5 $ 95 10 100 119 159 12.5
$ 145 4-M8x20 =24 61.5 & 110 10 130 119 159 12.5
* C1~C10 2R EDIAER R R fHRIEE P E R BRI, * C1~C10 ERAREDINERR 2 R T, AIRiEE P ER e,
* C1~C10are motor (metric standard) specific dimensions, which could be customised. * C1~C10are motor (metric standard) specific dimensions, which could be customised,

L @




